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Unit 7 Part 13 Readings: Growth and Decay Models
Growth Models
Exponential Models				Logarithmic Models
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Start slow then speed up			Start fast then slow down

Compound Interest:		A = P(1+r/n)nt
A = accumulated value
P = the principal amount of money
t = years
r = annual percentage rate (in decimal form)
n = compounded n times per year

Population Growth:		A = A0 ekt
	A = amount at time t
	r = growth rate
	A0 = original amount
	if k > 0 then the population is growing
	if k < 0, then the population is shrinking

[image: Logistic Regression Explained. [ — Logistic Regression explained… | by  Jaime Zornoza | Towards Data Science]Logistic Growth  (growth within a limit): 	A = c/ (1+ ae-bt)
	c > 0
	b > 0
as time t increases:
ae-bt approaches 0 
A gets closer to the limit c

	Min + (Max-Min)/(1+e^(-rate*(day-inflexion pt)))
NOW
LAST MONTH
WHY I DON’T TRUST EXPONENTIAL GRAPHS



[image: Math Plane - Math Comics Archive (Winter/Spring 2020)][image: Cartoon guide to biodiversity loss XXVI | ConservationBytes.com]
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"Notice the virus spreads somewhat
exponentially at first; then, it slows
toward an upper bound....

In this model, can someone tell me
how large the population is?"

"Anyone??"

T have no idea what he's teaching..,
But, as long as he grades ona
curve, I'm golden!"

Mr. Kovid teaches logistic growth models during flu season...
LanceAF #371 (3-20-20)

mathplane.com
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The outbreak may have
seemed small up to now.
But as you can see, if we
don't address it now,
the exponential growth
will beat us.
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